INSTALLATION INSTRUCTIONS Neuda

FOR CASTILLA 21LT THREE TIER CHANDELIER 115048 CUSTOM %ﬂ; HTING

CAUTION: FAILURE TO INSTALL THIS FIXTURE PROPERLY MAY RESULT IN SERIOUS PERSONAL

INJURY OR DEATH AND PROPERTY DAMAGE. We recommend installation by a licensed electrician.

This product must be installed in accordance with applicable installation code(s), by a person familiar with the
construction and operation of the product and the hazards involved.*

Caution: Do not exceed maximum wattage noted on fixture. Use only recommended bulbs with fixture.

FIXTURE COMPOMNENTS

A1 TOP TIER 1/4-20 BOLTS (QTY 12) FIBER DRIF CAMDLE COVERS (QTY 21)
A2 CENTER TIER 1/4-20 NUTS (QTY 12)

A3 BOTTOM TIER 3/4-6/32 5ET SCREW (QTY 12)

1/4-20 ACORNS (QTY 9) CAMNOPY ASSEMBLY

STEEL UPRIGHTS (QTY 12) CHAIMN 120"

Caution: Be sure power is off at the main breaker box prior to installation.
Read all instructions in thetr entirety before beginning installation.

1. Carefully unpack all components and make certain that everything is accounted for.

2. Suspend A3, Bottom Tier, off of the floor on scaffold. Center rod with plate should be facing up.

3. Move A2, Center Tier, into position to combine with A3. Remove and save 1/4-20 Acorn nuts from
studs extending out of bottom-center hub of A2, Connect electrical Molex plugs between A2 and A3,
4, Set A2 onto A3 so that 1/4-20 studs from A2 slide down through holes in center plate of A3.
Reattach Acorn nuts and secure.

5. Move A1, Top Tier, into position to combine with A2. Remove and save 1/4-20 Acorn nuts from
studs extending out of bottom-center hub of A1. Connect electrical Molex plugs between A1 and AZ.

6. Set A1 onto A2 so that 1/4-20 studs from A1 slide down through holes in center plate of A2,
Reattach Acorn nuts and secure.

7. Remove nuts from studs on top hub cap at of A1 and remove cap.

8. Begin attaching Steel Uprights to fixture. Move uprights into position with pinched ends up. Bottom
of uprights will set onto metal tabs on inside of ring of A3. Bottom of upright is secured to metal tab by
screwing 3/4-6/32 set screws down through uprights and into metal tabs.

9. Top, pinched ends of uprights, will attach to top hub of A1. Feed 1/4-20 bolt through uprights and into
hub. Secure balts inside hub, with 1/4-20 nuts.

10. Once all uprights have been secured, reattach hub cap at top of A1.

11. Dissasemble canopy assembly by removing 8-32 Acorn nuts from studs extending through canopy.
slide mounting plate with welded loop and attached quick link out of canopy.

12. Secure canopy mounting plate to ceiling, ensuring that connection is suitable for minimum of 210lb
load and that electrical supply wires are accesible,

13. Attach desired length of chain to quick link on loop at top hub of A1.

14. Slide canopy over chain and let rest on hub at top of A1.

15. Fixture can now be hung. Attach chain to quick link on welded mounting plate loop.

16. Run electrical wires and safety cable from top hub of A1 up through every 3rd link of chain.

17. Make electrical connections to supply power following local codes and procedures. Secure safety
cable to structure ensuring connection is suitable for minimum 2101b load.

18. Slide canopy up chain and over mounting plate. Reattach 8-32 Acorn nuts to studs extending
through canopy and secure,

19. Place fiber drip candle covers onto sockets on arms.

20, Install 21-Candelabra 60Watt bulbs(not included) into sockets on arms.

MEYDA.COM 1.800.222.4009 SALES@MEYDA.COM



